
Maxi Grower

www.royalwellkassen.nl

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

125 L x 60 W x 75 H cm     RW2810
185 L x 60 W x 75 H cm     RW2811

H
W

L

Part No. Length 
(mm) Drawing S422 S622 

001 750  4 4 

002 595  2 2 

003 1230  1  

004 1230  1  

005 1830   1 

006 1830   1 

007 748  2 2 

008 595  2 2 

Part No. Length 
(mm) Drawing S422 S622 

009 595  1 1 

010 764  4 4 

011 592  11 16 

012 1227  5  

013 1827   5 

a1 M6x10  67 77 

a2 M6  67 77 

S422  —-  MAXI GROWER 125 
Size:  125 (L) x 60 (W) x 75 (H)  CM 

Greenhouse Staging 

S622  —-  MAXI GROWER 185 
Size:  185 (L) x 60 (W) x 75 (H)  CM 

Part No. Length 
(mm) Drawing S422 S622 

001 750  4 4 

002 595  2 2 

003 1230  2  

005 1830   2 

007 735  2 4 

008 595  2 2 

009 595  1 2 

Part No. Length 
(mm) Drawing S422 S622 

010 764  4 4 

011 592  10 16 

012 1227  5  

013 1827   5 

a1 M6x10  65 86 

a2 M6  65 86 

S422  —  MAXI GROWER 125 
Size:  125 (L) x 60 (W) x 75 (H)  CM 

Greenhouse Staging 

S622  —  MAXI GROWER 185 
Size:  185 (L) x 60 (W) x 75 (H)  CM 

Part No. Length 
(mm) Drawing S422 S622 

001 750  4 4 

002 595  2 2 

003 1230  2  

005 1830   2 

007 735  2 4 

008 595  2 2 

009 595  1 2 

Part No. Length 
(mm) Drawing S422 S622 

010 764  4 4 

011 592  10 16 

012 1227  5  

013 1827   5 

a1 M6x10  65 86 

a2 M6  65 86 

S422  —  MAXI GROWER 125 
Size:  125 (L) x 60 (W) x 75 (H)  CM 

Greenhouse Staging 

S622  —  MAXI GROWER 185 
Size:  185 (L) x 60 (W) x 75 (H)  CM 

Art.no RW2810 RW2811mm

Part No. Length 
(mm) Drawing S422 S622 

001 750  4 4 

002 595  2 2 

003 1230  2  

005 1830   2 

007 735  2 4 

008 595  2 2 

009 595  1 2 

Part No. Length 
(mm) Drawing S422 S622 

010 764  4 4 

011 592  10 16 

012 1227  5  

013 1827   5 

a1 M6x10  65 86 

a2 M6  65 86 

S422  —  MAXI GROWER 125 
Size:  125 (L) x 60 (W) x 75 (H)  CM 

Greenhouse Staging 

S622  —  MAXI GROWER 185 
Size:  185 (L) x 60 (W) x 75 (H)  CM 



2

www.royalwellkassen.nl

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual


